Doo00o0ooo (o0)
2000 40 26000000

gboobobo4000000ob n1oboboboboooooobobuoboonoog
gbooboobobooo

ar+by 0000000

001 @beZ0000000axr+by (x,yeZ)0000000000O0O0O0DO0O0OO
uag
{ax+by|z,yeZ}

O00d=ged(e,b) 00000000 dZ={dk|keZ} 000000

02 abeZ00000 (ged(a,b)=1)00000000000 ax+by (z,y€Z)0
ugooooboboooo

03 aqbecZi000000axr+by=ged(a,b) 0000 z,ycZ 000000
04 e, becZib000000000ax+by=10000 z,ycZO00000O

005 ZOOODOUOOODOUOODO MOOOODOOOOODOOODOODODmMmOoOoOooo
Va,be M, a—-beM
doodooOdooodoDoOooDoDd0 MOO mDOOOOOD MO mZ2O0000O0O0O

oo s5000

Stepl:0eMOODOOODO
O0M#0000000 eeMOOODOOODOO 0=a—a€ M.

Step2:aeMUODOD0¢ZCMOOODOODO
0000 1000000-a=0—ee M. 0000000 —2a=(—a)—a € M,
—3a=(-2a)—a€eM, - 00000-kae M (YkeZ kO 0). 0000
00 ka=0—(—ka) € M.

Step3. M={0}0000 m=000000000000000000O

O00OM#{0}0000Step200 MOODOOOOOOODOOO MOO
oobobobobobo mOO0ODO0OOO0D M=mZO0OO0OODOODOOO

0 MOODOOODOOz0 mODOOODOOOOO ¢, rdon :
r=qgm-+r (00 r<m).



Step2 00 gme M OOODODOOODOOO

r=xz—qm¢€ M.
odr>0000 mOOOOQOoOooOoOOO r=0.0000 MOOOOOO
mO0000000M CmZ.

Step200 mZCMOOOOOOO M=mZ. (0D00O)

od1000
Stepl. M ={ax+by|lz,ycZ} 00000
(az +by) — (az’ + b)) = alx —2") + by —¥/)
00 M OOO b0000000000000 MOOOO mOOO0OO
M=mZ 000 m=d000000000000

Step 2. ¢, 00 dO0O000 ax+by 00000 4000000 mO d000O0
O m 0O d.

Step3. a=ax1+bx0eM,b=ax04+bx1eMUIO e, b0 mOOO0O0O
0dodod mO e, b0000000OO00OO00 40 m.
Step200000 d=m. (0OO)

06 o=5,b=13000 MOOOOOOOoDOooooDO
5 = Hx1+13x0

13 = 5x0+4+13x1
8 = 5x(-1)+13x1

3 = 5x(-2)+13x1
-2 = 5x(=3)+13x1
1 = 5x(=5)+13x2

10 az+by 00000000000000000 VkeZO
k = 5x(—5k)+ 13 x (2k)
00o000000o0o

O0000 ex+by=c 000000000

o7 abceZU0D0000O00O0O0O0O0 ax+by=cO0000 z,yecZO0000
000000000 cO d=ged(e,b) 00000O00OODOOOO

008 a,byce Z (ab# 0)000000cO d = ged(a,b) DO0DODDODODODOOO
o,y €Z 000000 ax+by=d000000O00O0O00O0OO0O0O0O0O0O0OO0 ax+by=-c
ooodd a,y O

z = (c/d)xo + (b/d)k, y=(c/d)yo—(a/d)k  (ke€Z)
ooooooo



oooooo9 oobod ez+by=cb0On

Step 1. 000000000000 O0OOO d=ged(a,b) 00000

Step 2. ¢c0 d0000000DOOOO0ODOOODDOOOOOODO

Step 3. a/d — A, b/d — B, ¢/d — C.

Step 4. azg+byo=d 0000 20, 5o 0000000
(Azo+Byo=10000 20,%000000000)

Step 5. = Cao+ Bk, y=Cyo— Ak (k€ Z) 0000000000

010 15z+39=120000

Step 1. d = ged(15,39) =3

Step 2. ¢c=120 d=300000000 Step3 0O
Step 3. A=5,B=13,C =4.

Step 4. 0 600 xp= —5, yo = 2.

Step 5. v =20+ 13k, y=8—5k (k€ Z) 000ODO

gbooogoboboooaoon

OO0O0DO0OO090 Stepd00000DOODOOOODOOOOOODOODOOOO
googoo

00000011 (bOoooooooooooooon)
00 :a,beZ
00 :d=ged(a,b) 00d=axr+by 0000 2,y €Z

Step 1. 30000 {r,}, {an}, {yn} 00D0DDODO

Step 2. oDopop { 0T % F0T W
7’1=b, 1'1:0, y1:1

Step 3. n=1.
Step 4. 1, #0000 Step 6 OO

n+l—mn

gq=rn—o U0 r,_y 00O
Step 5. Ty =Tpn_9—q X Tn_1

Tp = Tp—2 — q X Tp—1

Yn = Yn—2 — 4 X Yn—1

Fpe1 0 0000 d=rp_1, &=Tn_1, Y="Yn1

Step 6.
ooboooon d=-rp_1, T=—Tp-1, Y= —Yn—1



00000011000 0000 n0d=|r| 000000000000
rn = aZy + byn (n=0,1,--+)
goopooogooooooooggoo

00000012 (00O000OQ0O0O0O0O0OO0O0OoooooO ver.)
oooooooon

Step 1. b0000 Step3 00
ooo0od d= =1 =
Step 2. al 0 a, , y=0
oooboog d=-—a, z=-1, y=0
oooooooo

g=al0 000000

Step3.{
r=a—bxgq

gobooobooooo

dp = ged(b,r) O
do = bxg+ryo0 00 0O xg, yo

000 d=dy,z=yy,y=z0—q Xy 0O OO

00000012000 b=0000 (Step2)0 d=|a]=ax (£1)+bx000 OK.
b£00000000000000

d = dy = bxog + ryo = bzo + (a — bq)yo = ayo + b(xo — qyo)-
0013 JO0OOooo01ioooooouo 1200o0oao O(log3a)DDDD

014 00O0O0O0O0O0OO0OOO0OODOODOOOODOODbOOOO0OD 120000000000
0000 (0000000 Lo3.c0 euclidd )00 0OO00OO 110000000000
O0000000000000000 (0 euclidal )OOOODOOOOOO 1100000
30000000000000000000O00ODODO0O00000 (0 euclid2)O

015 0000009 000Stepl 000000 DOOOODOOODOOODOOODO
OO0 Step4 0000000



